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1 | 33631290 |[Ppmiuypndki 200 g QZ nbnwhwwn 7.5 600 4500
2 | 33631290 |Ppniwypndki 20uqg/14] Q2 upyuly 681 250 170250
3 | 33661122 |yyupugbuiwudng 120 Ug/5u] QZ upyuily 360 100 36000
4 | 33661122 |wwpwugbunwdn) 50 Uq Qz Unuhl 47 300 14100
5 | 33661122 [wuwpugtwnwdn 100 g o4 uUnuhy 50 300 15000
6 | 33661122 |wupuglunuing 500 ug Q7 nhquhwn 7 500 3500
7 | 33691124 |whpwinky 125/2.5 Uy Qz updul 1500 30 45000
8 | 33691140 |wgtinhjghuinkht 100 Uq / ynipunid/ Q2Z nEnuhwwn 60 100 6000
9 | 33691140 |mughkwnhjghuwnnkht 200 Uq /pnipunid/ Qz nbnuwhwn 130 200 26000
10 | 33691121 |wjpkunguqny 40 dghly %4 upyuly 1700 30 51000
11 | 33651112 |wunpuweghihl 125/ 5 Uy Gz = |upjuly 762 80 = 60960
12 | 33651112 [wunpuwghihlt 250 Uq/5d) Qz upjuly 1000 120 120000
13 | 33651112 |Wnpuwghth prunjmutwppnt 250 Qz upury 3500 120 420000

Uq/62 Uj
14 | 33651112 M%%:E%% “prumuinuppnt 125dq qz uptuly 2000 100 200000
15 | 33651115 |ghduytipuhtt 250Uq/5dy Qz upuy 660 100 66000
16 | 33651116 |wghppnuhght 200 Ug/5uy Q2 upjuly 1635 80 130800
17 | 33642030 |EPhpnpu SOUY/ jinphpnput Qz nbuihun 14 1500 21000

wwnpnid

wubyptwnhb ginuuuwnhd/
18 | 33611150 wilhymqu hugwqu,wpninbuquy 300 g Qz phnuuunhd 236 10000 2360000




